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A:{2,7,899} = {3,6,8,9,9} = {4,5,8,9,9}
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4. = wA={a,8,,84,3,,a} » B={a’,a’°,a°,a ,a°} - # ¢ aeN » (i=1234,5)

3, <a,<a;<a,<a, * AnB={a ,a,} ¥ a+a,=10-* AUB~ %2 qri 224> £ & & A=?

A:{1,3,4,9,10}
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0. wAHZ =-1+V3ai 2, =20y g eRT a® — 1 WiFHL, =2 RArg(Zy) = ?
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Ata< _é s > Arg(Zs3) =27T sa> —é > Arg(Zs3) =%n
10. A triangle with interior angles 30° and 45°, and the radius of the circumcircle is 4. What is the area of

the triangle?
A:4+43

11. George throws three unbiased dice and removes all of the dice that come up with a 5 or 6. Martha then

throws the dice that remain, if any. Determine the probability that exactly one of Martha's dice shows a 5

98

or 6. A —
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12. In the diagram shown, M is the mid-point of PQ. The line PS bisects £RPQ and intersects RQ atS.
The line ST is parallel to PR and intersects PQ at 7. The length of PQ is 12 and the length of MT

is 1. The angle SQT is 120°. What is the length of SQ?
R
S

, 120°
4 MT Q

A:3
13. The first two terms of an infinite geometric sequence, in order, are

3logsx, 2logsx, where x > 0.

The first three terms of an arithmetic sequence, in order, are
logsx, log3§, logs g, where x > 0.

Let S, be the sum of the first 6 terms of the arithmetic sequence. Given that S, is equal to one third of

the sum of the infinite geometric sequence, find x.

A 243

14. A geometric transformation T : (x,y) — (x,y") consists of three transformations in order :
e A rotation of 6 radians (0 < 6 < 2m) about the origin, followed by
e An enlargement with scale factor 2, centred at the origin, followed by
e A translation of 1 unit right and 3 units down.
7

Given that the transformation T maps the point (g —%) to itself, find the angle 6 of the rotation.
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